Hl = 0Ol & AF & H A N
20129 &= 20l A LBSIH S AIDF ~ AL
2 AL

M T AZeH=
Chelr T AIZ2 A E

_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
SAID 780,905 2,505,996 A 1,745,091
SAIZEIH = 122,000 504,870 382,870
SAIZEIH & 48,000 356,870 308,870
SAHEFH2HH(PIS) 2 25,000 19,870 5,130
201 L Br2 2| 25,000 19,870 5,130
02 BZ22H| 25,000 19,870 5,130
OZAHEZ2HH(PIS) RX24 25,000
SARIHALY ET 23,000 23,000 0
203 R =AY 23,000 23,000 0
03 Al ER D EH Y| 23,000 23,000 0
0AEDEYR FA 17,000
OZAZRYR =W 6,000
Exze 74,000 148,000 A T74,000
MEL B2 el 63,000 63,000 0
201 2Bre | 63,000 63,000 0
01 Ak 22l 50,000 50,000 0
OMZLS YXNFANE 222 & ¥ 2% 46,080
OSL+Y(MFLLANS]) 70,0008 +7%+83] 3,920
02 BB22H| 13,000 13,000 0
OMZFL OHH & B2IAAH RNB4 13,000
HRENZRANAY 29 11,000 85,000 AT4,000
201 Lpr2 | 11,000 5,000 6,000
02 BB=2H| 11,000 5,000 6,000
OSZEXNFHZAALY NS 11,000
HHSAZH (SAD) 558,905 521,126 37,779
OIS (T AT 474,225 438,446 35,779
oIS (ZTAIDH 474,225 438,446 35,779
101 124t 474,225 438,446 35,779
01 24 474,225 438,446 35,779
QARSI 2245 467,166
o5 10,4862 %52 +50A| 2t 122 31,458
052 8,94321 5222 %50 Al 2t 12 118,048
072 (2373 =)
8,078 522 +50A| 2t 12 252,034
@82 (01582 =)
7,25221 %142 %50A| 24+ 12 60,917
@92 (01592 =a)
6,555%! % 12 50A| 2H+ 128 3,933
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